Chapter 12: Language and Thought
100 MCQs
1.

There are many approaches and methods involved in the fields of language and thinking. But which of the following statements is NOT correct?

A.

An information processing approach to thought and language essentially asks by what processes we can accomplish the tasks of thinking and using language. 

B.

The psychology of thinking is concerned with inference, while the study of language is not.

C.

Cross-cultural and cross-linguistic comparisons provide rich data about the nature of what language is.

D.

The information processing approach has to be applied in order to understand how language actually works.

2.

Language gives us the capacity to let others know things and do things that would otherwise be impossible. Which of the following is also true about language?

A.

Language enables us to share knowledge and ideas, and to extend our spheres of influence beyond the immediate.

B.

Written language is the most basic form.

C.

The majority of cultures have not yet developed written language systems.

D.

None of the above.

3.

The information-processing approach __________.

A.

Is concerned with how processing develops in children

B.

Reveals the astonishing capacity to perform acts of inference through studying thought

C.

Show the limitations of inference through studying language

D.

Finds out how something works through inferential introspection

4.

What is NOT a benefit of written language?
A.

Allows the dissemination of information

B.

Lets us communicate with our past and future

C.

Enables us to keep in touch with remote cultures

D.

None of the above

5.

The psychology of language is _________.

A.

Only concerned with the processing of spoken language

B.

A field that combines pure psychology, linguistics, and communication studies

C.

Simply concerned with the organization of written language

D.

None of the above

6.

It is conventional to divide up issues of language under the headings syntax, semantics and pragmatics. But which of the following does NOT apply to syntax?

A.

Syntax is the set of rules or principles that govern word order, and which words can be combined with which. 

B.

The rules and principles of syntax are key to the grammar of a language.

C.

In a sense, the rules of syntax reflect the way the brain analyses language. 

D.

An example of a syntax rule, in English, is that a sentence consists of a noun phrase plus an adverb phrase.

7.

Which is an example of the primary rule of a sentence in English syntax?
A.

NP → VP + S

B.

S → NP + AV

C.

S → NP + VP

D.

AV → NP + VP

8.

Which is NOT an example of a sentence that is incapable of being parsed?
A.

The horse raced past the barn fell

B.

The horse that raced passed the barn fell

C.

John loves Mary

D.

Both B and C

9.

What occurs when you misparse a sentence?

A.

People have no difficulty correcting the parsing of the sentence

B.

People have difficulty at first, but can then quickly parse the sentence correctly

C.

There is a resultant failure of comprehension at all levels

D.

None of the above

10.

Which of the following statements about semantics is FALSE?

A.

Semantics concerns aspects of meaning. 

B.

The meaning of a sentence is assembled from the meanings of the individual words that make up the sentence. 

C.

Meaning at the sentence level is vital for comprehension. 

D.

Syntax is not vital for comprehension.

11.

Which sentence is an example of proper use of semantics?

A.

The old man the boats

B.

Harry cooked dinner with a wok last night

C.

Green rain sinks frail grannies

D.

Susan cooked dinner with her husband yesterday

12.

Select the INCORRECT statement with regard to pragmatics:

A.

Pragmatics concerns the set of rules or principles that govern word order. 

B.

Semantics is also known as sentence meaning, and pragmatics as speaker meaning. 

C.

Pragmatics concerns the interpretation of an utterance.

D.

The introduction of pragmatics is essential to any account of language processing, and is especially obvious in cases where semantics appear to fall short. 

13.

Which is NOT an example of the necessity of pragmatics for understanding a sentence?
A.

They walked to the park.

B.

Can you pass the salt?

C.

John is really blue today.

D.

She is light on her feet.

14.

Which of the following is NOT true in relation to comprehension of language?

A.

Comprehension of language requires the processor to use syntax, semantics, scripts and pragmatics. 

B.

How and when different sources of information are called upon is a relevant issue for the language-understanding system. 

C.

How the architecture of the system is organized is not a relevant question for our understanding of the language system. 

D.

Word-sense retrieval and the processing of non-literal meaning represent two relevant issues in the comprehension of language.

15.

Which sentence is NOT problematic in its interpretation?

A.

John was hungry, so he went to a restaurant and ordered some nails.

B.

Harry put the wall paper on the table, and then put his full coffee cup on that.

C.

John was really hungry, so he went to the restaurant and ordered Crepe Suzette, followed by steak.

D.

Harry put the wallpaper up, and then put his full coffee cup on that.
16
According to the modular view how do we retrieve information to understand the sentence ‘John put his salary in the bank?’
A.

We retrieve the meaning ‘bank = financial building’ based on context clues

B.

Context clues lead us to exclude ‘bank = side of river’

C.

We retrieve both meanings of bank

D.

None of the above

17.

When reading or listening, it is important to retrieve word meaning, and that means retrieving the right sense of a word. Which of the following can we also say about word-sense retrieval?

A.

In word-meaning retrieval, the role of background knowledge is important. 

B.

Context usually causes problems of ambiguity in speech.

C.

Both (a) and (b).

D.

Neither (a) nor (b).

18.
Which is NOT a reason why the modular view is attractive?

A.

It keeps mechanisms for meaning and context separate

B.

It is computationally simpler

C.

Is a very adaptive way of organizing knowledge

D.

All of the above

19.
If you see the sentence ‘Mary found the river cold, so she swam to the bank,’ and were then asked to decide if random words were related to ‘money,’ ‘mud,’ with NO DELAY, what would happen?
A.

There was a response time advantage for words related to money

B.

There was a response time advantage for either meaning of bank

C.

There was a response time advantage for words related to mud

D.

There was no response time advantage

20.

Which is NOT the case? The interactive view of word-sense retrieval:

A.

Suggests that the retrieval of word-meaning information is connected to other processes of comprehension.

B.

States that which aspects of word meaning are active depends on context. 

C.

Is attractive because it implies a very adaptive organization of knowledge and word meaning.

D.

Means reduced computational complexity. 

21.
If you see the sentence ‘Mary needed money, so she went to the bank,’ and were then asked to decide if random words were related to ‘money,’ ‘mud,’ with a short delay, what would happen?

A.

There was a response time advantage for words related to money

B.

There was a response time advantage for either meaning of bank

C.

There was a response time advantage for words related to mud

D.

There was no response time advantage

22.
How is information stored?
A.

In a modular fashion

B.

In an interactive fashion

C.

In a modular fashion at first and then in an interactive fashion

D.

In an interactive fashion at first and then in a modular fashion

23.

Which TWO of the following statements are correct, in relation to how we understand sentences?

A.

One explanation of how we understand all sentences is that we initially assign a metaphorical meaning to them and then integrate this into the meaning of the discourse.

B.

The literal meaning of an utterance may not make any sense, especially if the sentence conveys an indirect speech act or a metaphor. 

C.

Empirical data shows that metaphors are always first interpreted literally, then, if this fails, they are interpreted as non-literal, or figurative. 

D.

Glucksberg & Keysar (1990) argue that we derive a literal interpretation of the utterance and assess the interpretability of that interpretation against the context of that utterance. 

24.

What is wrong with the view that we assign literal meaning to our sentences and then integrate this into our discourse?
A.

It is impossible to make a literal statement

B.

We can not gauge interpretability

C.

The literal meaning does not always make sense

D.

Nothing, this is how we understand our sentences

25.

If we utilize a literal series of processing operations what do we need?
A.

The ability to assess interpretability

B.

We need to know if the statement is literally true or not

C.

Understanding of the context of the sentence

D.

All of the above

26.

If you were given two sentences one indirect, ‘Must you open the window,’ and one literal, ‘Don’t open the window,’ which would you process most quickly?

A.

Must you open the window

B.

Don’t open the window
C.

Neither

D.

The one for which you had been primed first

27.

Which TWO of the following statements about the phenomenon of priming are correct?

A.

Priming is an important technique for finding the answer to the mechanisms underlying word-meaning retrieval. 

B.

When a word is read, it becomes easier to recognize words that are associated with it. 

C.

If you read the word ‘nurse’, you will then read the word ‘doctor’ more slowly than if you had just read an unrelated word, such as ‘bread’.

D.

After reading the word ‘bank’, if there is no biasing context, then target words relating to just one sense should be primed, e.g. ‘river’.

28.

If a person is primed with sentences with an indirect interpretation what happens?
A.

They make a literal interpretation

B.

They make an indirect interpretation

C.

They make a critical interpretation

D.

They are unable to interpret the sentence

29.

Identify the TWO INCORRECT statements about Gibbs’ 1979 and 1983 experiments:

A.

Gibbs (1979) showed that people take longer to process indirect requests than to understand literal uses of the same expressions. 

B.

Gibbs’ 1979 data suggested that people do not need to obtain a literal meaning of an expression first in order to comprehend an indirect speech act.

C.

Gibbs’ (1979) findings run against the traditional language interpretation model.

D.

Gibbs (1983) found that, when the context biased the interpretation of the critical sentence towards a non-literal interpretation, there was priming of the literal interpretation. 

30.

One of the major pieces of research on metaphor comprehension was carried out by Glucksberg, Gildea and Bookin in 1982. Which of the following statements about their work is true?

A.

They asked participants to decide whether simple statements were literally true or false. 

B.

They claimed that the statement ‘Some desks are junkyards’ is literally false.

C.

They found that a statement with an obvious figurative interpretation takes longer to reject as literally false than does a sentence with no obvious figurative meaning.

D.

All of the above. 

31.

If you are presented with a metaphorical sentence, ‘Some desks are junkyards,’ and a sentence with no meaning, ‘Some desks are roads’ and asked to determine if these statements are literally true or not, what happens?

A.

‘Some desks are junkyards’ takes longer to reject

B.

‘Some desks are roads’ takes longer to reject

C.

You fail to reject ‘Some desks are junkyards’

D.

It takes the same amount of time to reject both sentences

32.

How do we process metaphorical meaning, even when it is not needed?
A.

Modularly

B.

Automatically

C.

Slowly

D.

Both A and C

33.

What do people answer when asked the question, ‘How many of each sort of animal did Moses put on the ark?’
A.

Moses did not build the ark

B.

Who is Moses?

C.

2

D.

50,000

34.

If participants are given two faulty sentences about where to bury survivors of an airplane accident or a bicycle accident, what occurs?

A.

They say, ‘in the ground’

B.

They correctly point out that survivors can not be buried

C.

They make more correct answers for the airplane sentence

D.

They make more correct answers for bicycle sentence

35.

Which statement regarding information processing is false?
A.

Processing of a word depends on its fit in a situation

B.

People use shallow analysis when words correspond easily with their concept 

C.

A word is understood through all-or-none processing

D.

People are more likely to detect anomalies if a word does not match a belief

36.

Which of the following statements are correct when we think about discourse? (Please highlight all correct answers.)

A.

A collection of any set of sentences is a discourse.

B.

A substantial part of the psychology of language deals with discourse processing. 

C.

The primary feature of discourse is that it is coherent. 

D.

Sometimes sentences are connected by explicit devices, called ‘structural markers’.

37.

Discourse _________.
A.

Sentences do not need to be meaningful

B.

Is the result of a sensible message

C.

Sentences can contain contradictions

D.

Coherence always requires an explicit connector
38.

One the following does NOT apply to the sentence: “John fell off the cliff because he was walking too near the edge”. Which is it?

A.

There are two cohesion markers.

B.

The connective ‘was’ indicates that the sentence ‘John fell off the cliff’ portrays the result of a cause – i.e. ‘he was walking too near the edge’. 

C.

The pronoun ‘he’ signals that some individual who is singular and male has been mentioned.

D.

We take it that it was ‘John’ who ‘was walking near the edge’.

39.

Highlight the INCORRECT observation about the sentences: “John was hit by a train. He had been walking down the track”:

A.

This is coherent because ‘walking down the track’ was the condition that enabled ‘John’ to be ‘hit by a train’. 

B.

There is an explicit causal connector in this sentence. 

C.

Coherence establishment may sometimes make use of cues in the text.

D.

Coherence establishment always relies on some degree of inference.

40.

Identify all correct statements about the sentence: “John lent Harry some money because he was hard up”:

A.

The referent of ‘he’ is most likely ‘John’.

B.

Because money is lent to people who are ‘hard up’, an inference can be automatically drawn from this sentence. 

C.

Because money is lent to people who are ‘hard up’, an inference cannot be used to solve the reference problem.

D.

If we removed the connective ‘because’, thus making the one sentence into two, we would not be able to solve the referent of ‘He’.

41.

If you are given two sentences discussing whether Herb took the picnic supplies or beer from the car, and then are told that the beer is warm, what is NOT likely to happen?
A.

It takes longer to read about the warm beer when they take beer out of the car

B.

It takes longer to read about the warm beer when they take picnic supplies out of the car

C.

People have to infer that beer is part of the picnic supplies

D.

Thinking about the beer as a picnic supply requires cognitive resources

42. One of the following assertions about inferences is ERRONEOUS – which is it?

A.

Experimental work shows that inferences are made so quickly that we cannot measure the time they take. 

B.

Haviland and Clark (1974) asked people to read short texts made up of two sentences, and then measured the reading times for the second sentences. 

C.

If the text demands that an inference be made, this demands cognitive resources.

D.

Sometimes knowledge may be automatically recovered and included in the mental representation of the sentence. 

43.

If people see the sentence, ‘The housewife cooked the chips,’ what sentence do people remember better?

A.

The housewife cooked the chips

B.

The housewife fried the chips

C.

The husband cooked the chips

D.

The husband fried the vegetables

44.

If a participant is told, ‘Harry drove to London,’ and then later told that he owns a car, what happens?
A.

He processes the sentence more quickly

B.

He processes the sentence more slowly

C.

The new information does not effect his processing

D.

He has trouble processing the sentence
45.

Which of the following statements is False?

A.

We automatically relate new information to background knowledge

B.

Background knowledge is organized by specific situations

C.

The most fundamental operation of understanding is to recognize the message

D.

Sentences can lead to representations that go beyond their content

46.

Theorists have many conflicting opinions on the ‘ultimate questions’ in discourse studies – and some statements about these can be found below. But which are true? (Please highlight all true answers.)

A.

For discourse studies, the ultimate questions are just which inferences are made (i.e. what knowledge is recruited) and when during language processing. 

B.

Some theorists believe that sometimes there might not be much inferential activity taking place during natural discourse and that inferences and elaborations will only take place when the relevant background knowledge is highly available in memory. 

C.

Sanford and Garrod (1998) take the view that it is the task of the writer or speaker to say things in such a way that a scenario can easily be found, because this is essential for good message-level interpretation. 

D.

Whatever they think about component processes, there would be few scientists who would reason that understanding is based on bringing language input into contact with world knowledge.

47.

Are any of the four activities below NOT part of the reading process? If so, please highlight which one.

A.

Fixating words with our eyes.

B.

Involuntary blinking. 

C.

Representing the meaning of what is read.

D.

Using our implicit knowledge of syntax.
48.

What is the first point in the process of understanding written language?

A.

Processing semantic meaning

B.

Fixating words with our eyes

C.

Understanding the significance of what is read

D.

Processing the rules of syntax

Reading is a complex process, which can be broken down into a variety of activities: fixating words with our eyes, processing words in accordance with syntax and semantics, representing meaning, and understanding the significance of what is read. The first point of the process is fixating words with our eyes.

49.

Which of the following is true when it comes to eye fixation?

A.

The eye goes through very smooth movements when we read. 

B.

Small words are not always fixated, whereas larger words are nearly always fixated. 

C.

When someone has difficulty comprehending a piece of text, ‘progressive’ eye movements take place.

D.

Word information can be encoded while the eye is moving.

50.

How often is a small word, like ‘he’ fixated?

A.

Almost never

B.

30% of the time

C.

70% of the time

D.

Nearly always

51.

How often are content laden words fixated?

A.

Almost never

B.

30% of the time

C.

70% of the time

D.

Nearly always

52.

Which statement about eye fixation is FALSE?

A.

Eye fixation is under control of complex processes underlying language

B.

Regressive eye movements are quite common

C.

Eye fixation is mechanical

D.

Regressive eye movements occur even for straightforward text

53.

How many words can be encoded during a single fixation?

A.

1 word

B.

15 words

C.

30 words

D.

60 words
54.

In which part of the brain does damage often result in language dysfunction?
A.

Left

B.

Right

C.

Frontal

D.

Sensory cortex

55.

Which of the following statements about aphasia is FALSE?

A.

The term ‘aphasia’ is commonly used for all types of language loss.

B.

Strokes affecting those parts of the brain that support language processing account for the majority of aphasia cases.

C.

Damage to the left hemisphere of the brain is likely to result in language dysfunction.

D.

Broca’s area is the only area of the brain associated with specific aphasic symptoms. 

56.

When is aphasia likely to be diagnosed?

A.

When symptoms are specific to language

B.

When loss of language occurs in the absence of sensory impairment

C.

When loss of language occurs in the absence of thought disturbances

D.

All of the above

57.

Which is NOT a symptom of Broca’s aphasia?
A.

An absence of verbs
B.

Language lacks fluency and is slow
C.

Can not understand language
D.

Speech is not grammatical
58.

Which is NOT a symptom of Wernicke’s Aphasia?

A.

Cannot parse sentence

B.

Speech is garbled

C.

Suffer from word retrieval deficits

D.

None of the above

59.

Which is NOT a symptom of global apashia?
A.

Heard speech cannot be comprehended

B.

Heard speech can be repeated

C.

There is no capacity to produce speech

D.

Objects cannot be named
60.

Which is NOT a symptom of conduction aphasia?

A.

Have difficulty repeating strings of words

B.

Cannot repeat nonsense words

C.

Cannot produce normal speech

D.

Have the ability to understand speech

61.

Which is not an area that psychologists interested in aphasia will generally explore?

A.

Ability to repeat words and sentences

B.

Global speech problems

C.

Using grammar

D.

Ability to find the right words

62.

Which of the assertions given below about dyslexia is true?

A.

Dyslexia refers simply to reading problems in certain children that may continue into later life.

B.

The main difference between acquired and developmental dyslexia is that acquired dyslexia can result from brain damage in people who could previously read well, whereas developmental dyslexia refers to a developmental difficulty with reading, despite adequate intelligence. 

C.

In deep dyslexia, people can read words perfectly well but they don’t know what they mean.

D.

Most developmental dyslexics have excellent phonological awareness, so they perform well on tests of rhyme awareness, segmenting words into individual sounds (spelling out) and producing rhymes.

63.

Which is NOT a class of acquired dyslexia?
A.

Inner dyslexia

B.

Visual dyslexia

C.

Phonological dyslexia

D.

Surface dyslexia

64.

If a person can not recognize individual letters, so they read ‘mat’ as ‘cat’ they probably have what for of dyslexia?

A.

Phonological dyslexia

B.

Visual dyslexia

C.

Deep dyslexia

D.

Developmental dyslexia

65.

What is NOT a characteristic of phonological dyslexia?

A.

Difficulty reading pronounceable words

B.

Damage has been done to the mechanism that connect orthography to phonology
C.

They can not read real words

D.

There has been no damage to the direct routes of whole word pattern and sound
66.
What class of dyslexia does a person have if he has trouble reading irregular sounding words like ‘pint’ or ‘yacht.’

A.

Visual dyslexia

B.

Deep dyslexia

C.

Phonological dyslexia

D.

Surface dyslexia

67.

What is NOT a characteristic of deep dyslexia?

A.

Replace words like ‘uncle’ with ‘aunt’

B.

Cannot read abstract words

C.

Associated with right-hemisphere damage

D.

Co-occurs with aphasia

68.

Which is NOT a characteristic of developmental dyslexia?
A.

One category is associated with difficulty in sounding out words
B.

Cannot read pronounceable pseudo words

C.

One type is associated with an inability to recognize word forms

D.

All of the above
69.

Which is NOT a Lakovian claim about natural metaphors?
A.

The conceptual system does not affect the way we think

B.

The conceptual system relies on metaphor

C.

The conceptual system is equivalent to setting up mental models

D.

The conceptual system constrains the way we communicate

70.

What is NOT a characteristic of our mental model of anger?
A.

They result from simple observations (e.g., an increase in internal pressure)

B.

Once a model is created it is not generative

C.

Observations can be understood in terms of familiar experiences

D.

One way we conceptualize anger is in terms of heat being applied to a container

71.

Which statement about metaphors is NOT true?

A.

Metaphors are restricted to specialist literary uses

B.

Metaphors reflect the way our conceptual structure support understanding

C.

Metaphors permeate our language

D.

Common experiences are used as models to interpret phenomena

72.
If the prime minister described the energy crisis as a ‘moral equivalent of war’ what analogue of war concepts does this introduce?
A.

There will be an enemy
B.

A target will be set
C.

Sacrifices will be called for
D.

All of the above

73. 

Which of the following statements about thinking is FALSE?

A.

The study of thinking concerns how we come to understand the world, what our intuitions are, and how we reason, solve problems and make judgements and decisions about things.

B.

The cognitive approach to thinking attempts to discover the processing activities that characterize these mental acts. 

C.

Experimental studies of thinking have been almost all about logical deduction. 

D.

The most striking thing to emerge from the study of thinking is that, as a species, although we can solve some amazingly difficult problems, we can also fail on others that seem quite simple.

74.

Two main strands have coexisted in the study of thinking for many years: problem-solving and reasoning. Which of the assertions below do we know to be the case?

A.

Problem-solving is concerned only with how people understand stories.

B.

Reasoning has been almost completely concerned with what conclusions people draw, logical or otherwise, on the basis of knowledge and evidence. 

C.

Both (a) and (b).

D.

Neither (a) nor (b).

75.

Which statement about problem solving is FALSE?
A.

Routine problem solving can be drawn from memory

B.

Creative problem solving cannot be done from formula

C.

There are standard procedures in memory to solve a problem creatively

D.

Repetition makes a creative problem routine

76.

Newell and Simon (1972) collected ‘speak-aloud protocols’, requiring people to say aloud what they were doing while they were attempting problems. But which of the following is NOT true of their research?

A.

Newell and Simon’s methodology helped them to analyse in detail the steps people go through in problem-solving.

B.

Newell and Simon found that: (1) people set up initial representations of problems, which influence the search space, and (2) people employed general purpose techniques, called heuristics, which helped to constrain the search space.

C.

According to Newell and Simon, people set up initial representations of problems which influence the search space.

D.

According to Newell and Simon, people employ only very specific techniques suitable only for the task at hand to help to constrain the search space. 

77.
How might you solve the following problem: BILL + WAS = KING?

A.

Word meaning

B.

Typography

C.

Cryptography

D.

All of the above

78.

Which of the following statements are FALSE?

A.

Blind search involves moving information blindly until an answer appears

B.

All problems can be construed in terms of search spaces

C.

Our initial conception of a problem does not affect how we solve it
D.

Perception of what is involved in a problem increases as you work on it

79.

Which is NOT part of the strategy process of intelligently solving an anagram?
A.

Construct fragments from common grammatical legal combinations

B.

Conduct a blind search

C.

Trying fragment sequences which are rare

D.

Constrain the search space

80.

A classic study of how underlying common structure might be spotted was carried out by Gick and Holyoak (1980; 1983). They examined how experience with a puzzle called the ‘military problem’ (Holyoak, 1984) affected performance on a second problem, called the ‘radiation problem’ (Duncker, 1945). But which of the following is NOT true of their research?

A.

Gick and Holyoak had participants undertake the military problem first. 

B.

One group of participants read the military problem in the belief that they were simply to recall the wording; under those circumstances, only 30 per cent derived the correct solution to the radiation problem. 

C.

If the participants were given two similar problems before the radiation problem, then there was less transfer. 

D.

In general, the more superficially similar problems are, the better the transfer.

81.

What characteristic is necessary for successful transference in the military and radiation problems?
A.

Similar problem

B.

Similar story

C.

Read the difficult problem first

D.

All of the above

82.

Which of the following are accurate statements about logical and conditional reasoning? (Please highlight all correct answers.)

A.

Logical reasoning tasks deal exclusively with ‘if–then’ statements, e.g. if a green light comes on, then the ball has rolled left.

B.

In a syllogistic reasoning task, two premises will always enable specific conclusions to be drawn.

C.

In conditional reasoning tasks, people are required to draw conclusions that necessarily follow from a given, but not to draw conclusions about what might possibly follow. 

D.

None of the above. 

83.

In a logical reasoning task _______.
A.

People draw conclusions about what might possibly follow

B.

People draw conclusions about what necessarily follows

C.

Both A and B

D.

Neither A nor B

84.

Which is an example of a syllogistic reasoning task?

A.

All men have blood

B.

John has blood

C.

If all men have blood, and John is a man, then John has blood

D.

Both A and B

85.

What would you conclude if you are told ‘If some As are Bs, and some Bs are Cs’?

A.

That all As are Cs

B.

That some As are Cs

C.

That no As are Cs

D.

That you need more information to make a conclusion

86.

Which statement about mental models is TRUE?

A.

We need an accurate mental model to solve a problem

B.

Forming mental models is harder with some premises

C.

The more complex the mental model the more likely we will make an error
D.

All of the above

87.

If you are told that, ‘If a green light comes on, then the ball has rolled left,’ what should you conclude if the ball rolled left?

A.

The green light came on

B.

Someone pushed the ball

C.

There is no logical answer

D.

We do not have enough information to make a conclusion

88.

Which statement concerning the detection of cheats is TRUE?
A.

We are attuned to detecting social cheats

B.

We are poor at detecting concrete cheats

C.

We are good at detecting abstract cheats

D.

Abstract cheats are important socially

89.

Which TWO of the following statements are correct in relation to heuristic reasoning?

A.

Heuristic reasoning means exhaustively exploring all aspects of a problem you are trying to solve.

B.

Heuristic reasoning is a rare characteristic in people.

C.

Availability is a method of estimating the likelihood of something based on how easily it comes to mind. 

D.

The representativeness heuristic is based on the principle that we can estimate the likelihood of something by seeing how well it fits a prototype of which it may be an exemplar. 

90.

Heuristics _______.
A.

Are not common

B.

Are mental short cuts

C.

Have little to do with the machinery of thought

D.

All of the above

91.

Which is NOT an example of the availability heuristic?

A.

Assessing the divorce rate by thinking of people we know personally
B.

Buying a car based on how often we have seen it on the side of the road

C.

Judging produce based on size, shape, and colour

D.

Refusing to fly because of the recent plane crash

92.

The availability heuristic _____.

A.

Is based on the ease of recalling relevant instances

B.

Is based on the ease of constructing representations

C.

Always brings forth an accurate estimate
D.

Both A and B
93.

If a participant is given a list of famous names and non-famous names, what will they report?

A.

They will remember only half of the names on the list

B.

There were more non-famous names on the list

C.

There were more famous names on the list

D.

They will accurately remember the list

94.

You have a group of 10 people, you are asked to either make groups of 2 or 8, why will you report that you can make more groups of 2 than 8?
A.

You can make more groups of 2 than 8

B.

It is easier to imagine several committees of 2 than 8
C.

It is harder to imagine several committees of 2 than 8
D.

You can not manipulate a mental model with 8 groups

95.

According to representativeness, if we surveyed all the families that have 6 children and asked participants what ordering of boys and girls is likely to occur, what would they pick?

A.

GBGBBG

B.

BBBGGG

C.

GGGBBB

D.

All answers are equally likely

96.

Heuristics provide a means of reasoning, using strategies that generally work but are not guaranteed to work. But which, if any, of the following is true of intuition?

A.

Heuristic reasoning and intuition are completely unrelated.

B.

The mappings from the description of a problem to an automatic conception of that problem can be very strong. 

C.

The ‘Three Cups Problem’ is a good illustration of not-so-strong mapping between a state of affairs and a pre-existing mental model.

D.

None of the above.

97.

Intuition is NOT ___.
A.

Automatic

B.

Derived from detailed analysis

C.

Fast

D.

Related to conviction

98.

Which is true? In the hindsight bias:

A.

People had a prior insight but do not realize it until after the event.

B.

People think they had a prior insight and that an event was therefore unsurprising. 

C.

A typical experiment involves people believing they got fewer questions right than they actually did.

D.

A major consequence is that things appear to be less obvious than they actually were.

99.

According to the hindsight bias, if you are asked a question, and then, later, told the correct answer, you will:
A.

Say that the answer is obvious

B.

Admit you got the answer wrong

C.

Say you got the answer right

D.

Both A and C

100.

When we are presented with ‘natural’ information, like frequencies, instead of ‘artificial’ information, like probabilities, what occurs in logic tasks?

A.

We perform better on the frequency tasks

B.

We perform better on the probability tasks

C.

We perform equally well on both tasks

D.

We perform equally poorly at both tasks

